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2 SAD

O

ni;

X DX &R TAHE
el SAIE2 =4 (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SA LS 7,031,439 9,020,789 A 1,989,350
= 6,350
& 189,000
< 427,905
Al 6,408,184
OlcHXI&H S AN 1,568,226 4,159,961 A2,591,735
& 189,000
< 200,000
Al 1,179,226
SANEE X4 17,027 18,056 A1,029
ClIXtel 23 ZT2HE 3,442 5,624 A2,182
201 Let24d] 1,270 2,480 21,210
01 At 22/l 1,270 2,480 A1,210
OUXerza Z2HE FX 180
oZdidtE W& 60,0003 = 34! » 13| 180
OCIR QRIS FAE+Y
70,000& * 12% = 13 840
OLIXe s ZAs=E 250,000& * 13l 250
202 O4dl 1,200 1,200 0
01 = LH 4 1l 1,200 1,200 0
OO T2HME HREX 1,200
301 et a = 972 1,944 AQ72
10 HALAHI 242 972 1,944 AQ72
OCLIXel A2/ &sl EFAH
81,000& = 6H * 2& * 13 972
SAIZ2S EI|IF A 8,160 12,432 N4, 272
201 L4l 1,680 3,360 A 1,680
01 At 2t 2l 1,680 3,360 A 1,680
OABAAS (FBANLZTOIY) BHLg
70,000& = 1298 « 23| 1,680
202 oddl 4,860 5,832 A972
01 = LH o4 1l 4,860 5,832 AQ72
OZANZ2 L=
81,000& = 2 * 32 * 103 4,860
301 et d = 1,620 3,240 A 1,620
10 ALAHIE A3 1,620 3,240 A 1,620
OZ AL (F2ASFXE2AA) ’_é/% A od
81,000& = 10& = 23] 1,620
Al ZH B2(3)x4E 2el 5,425 0 5,425
201 €82l 1,425 0 1,425
02 =224l 1,425 0 1,425




FA: TARSH

X DX &R TAHE
el SAIE2 =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OANZH Z2(3) ASHE AME SXHI 1,425
oM ¥ S+83 HA 300,000& * 23 600
ozl E+E2H WA P
33,000& = 501 = 53l 825
401 A& HIZ 201 I 4,000 0 4,000
01 A& HI 4,000 0 4,000
OANZH B2(ZH) AFZE 2B X
2,000,000 * 24l 4,000
S ATHE FHI 223,696 91,096 132,600
SAZeHE 2 23,696 26,896 A 3,200
201 £B-2%| 10,900 14,100 A 3,200
01 At 22/l 10,900 14,100 A 3,200
OEAMAEANELEZE 23108
2,200,000& » 200Xl = 23] 8,800
OZAAHEAS &G
0,000& = 15" « 23| 2,100
202 04l 7,000 7,000 0
01 = LH 4 HI 7,000 7,000 0
OZAlA & 22 gRF2 7,000
301 et d s 1,296 1,296 0
10 ALAHIE A3 1,296 1,296 0
OEAMA=AZZ AT Kb
81,000& = 4% = 43] 1,296
401 Al HIZ 201 I 4,500 4,500 0
01 A& HI 4,500 4,500 0
OSANHEANL A S2+4E
500,000& = 30HA = 33 4,500
SAZ2HE HE 28 EY 200,000 0 200,000
207 O & H| 200,000 0 200,000
01 2289 200,000 0 200,000
O A2 HE 28 E9H 200,000
SASE 22 31,261 2,231,241 A 2,199,980
2XNER 22 11,000 11,800 A 800
201 €24 11,000 11,000 0
01 At 22l 2,000 2,000 0
Oogxgz 223 + 2,000
02 2324l 9,000 9,000 0
OXHR ML= 300,000& = 123 3,600
OgXgz ot = 200,000& = 12& 2,400
OXNHAR AZH 200,000& = 53 1,000




FA: TARSH

X DX &R TAHE

et TAlZE 22 CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OEXHZ A4 &EHl |AXbl 2,000
At A X 22l 20,261 19,441 820
101 e1214| 12,561 11,241 1,320
04 JIZtHIZ22 NS ES 12,561 11,241 1,320
OdSIAKRAX 22X B4 12,561
ollza2 38,880& * 1% » 230 8,943
oxELY 38,830 * 1% » 472 1,828
o 2HAIH| 3,000& * 1 * 230¢ 690
o d & F Y| 400,000 * 1€ * 23| 800
o II| 24| 150,000 * 1Y * 23| 300
201 LBt | 7,700 8,200 A500
01 AP 22| d| 3,500 4,000 A 500
OdSNMKIAX 2R A= 1,500
OCSINMRIX 22EE 2 2,000
02 2=2=24%H| 4,200 4,200 0
OdstsaX 8I)Iea2 100,000& = 12& 1,200
OdsARAX AE S 3,000
SCAZEDNE 22 18,242 128,264 A 110,022
ZN2 HA AlE &bl 13,000 21,250 N8,250
206 M = Hl 5,000 6,250 A 1,250
01 =4l 5,000 6,250 A 1,250
Osl=a HO|H AN 250,000& * 2004 5,000
401 AlEHIZL £ 0HY| 8,000 15,000 A 7,000
01 Al&H| 8,000 15,000 A 7,000
OZ1N2 AHAK &Hdl 8,000
ANEEE 28 22 600 600 0
201 et 9| 600 600 0
02 B232%H| 600 600 0
OANEEE 282D 29 50,000& = 12& 600
20 MO/ 2H 862 1,374 AN512
201 et 9| 862 1,374 AB12
01 AR 2t2l ] 862 1,374 A512
OBNS NN BHALY
70,000 * 5 x 13| 350
OSAZDHEIIIZ2Y Nolas BALY
70,000 * 5H x 13| 350
O&FIN2 MoAJE AN
81,0008 * 2 x 13 162
sSYHZOE AU 3,780 4,140 A 360




M TARSY

X DX &R TAHE

=

SR SAIENE 22 (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
201 fEt2E | 1,200 0 1,200
02 S2=24Hl 1,200 0 1,200
Oz 2523 100,000 = 12 1,200
202 o4 Hl 1,800 1,800 0
01 SLHO I 1,800 1,800 0
Osgaiu=s Nk -5 23 1,800
301 Yere A 780 2,340 A 1,560
R2IIEEd= 780 2,340 A 1,560
OsgZing =HEY 780
oo 500& = 10& » 5& » 12 300
of 2 1008 = 50& » 5¢ » 12& 300
o™ 208 = 150& « 5& » 123 180
SANAHEEZ WL 1,278,000 1,590,404 A312,404
Z 189,000
S 200,000
Al 889,000
SAJIZY QIEol A 300,000 100,900 199,100
401 AlEHIZ R0 8] 300,000 100,900 199,100
01 Al&HI 299,108 100,000 199,108
OZAItZ2d 2t AL 99,108
OZAIAIE Q130 A 200,000
03 Al& 2 CHHI 892 900 A8
OEAMIIZY DHHAAMS R0
99,108,000& = 0.90/100 892
oW 2-KTRGY T2HEBA 200,000 302, 160 A 102,160
401 AIEHI L 2CHYI 200,000 302,160 A 102,160
01 AlZHI 198,570 300,000 A 101,430
OHHEZ~KT&GZ SZ2IHE S A 198,570
03 A2 2 THHI 1,430 2,160 AT30
OAHZ2~KT&G2 T2 IHE S A I
198,570,000& = 0.72/100 1,430
AR =S A 378,000 40,432 337,568
Z 189,000
Al 189,000
401 AIEHIZ 2 CHYI 378,000 40,432 337,568
2 189,000
Al 189,000
01 A€ dl 375,297 40,000 335,297
OBdS HEBXSE FAIX HHAHS 375,297
& 189,000
Al 186,297
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el
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SAHEEZ W&

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 Al S THHI 2,703 432 2,271
O&HdS HEXNG ZAIIX THHAIS 2OHYI 2,703
EH&HAE M E2 A S A 300,000 0 300,000
= 150,000
Al 150,000
401 AIEHI L 20 300,000 0 300,000
< 150,000
Al 150,000
01 A& tl 297,855 0 297,855
OEH&tA AT 2 JHAE S A 297,855
< 150,000
Al 147,855
03 AIE S THHI 2,145 0 2,145
OEHAHAL T EZ A S A 200l
297,855,000& = 0.72/100 2,145
StELHX U2 ZEHSA 100,000 0 100,000
= 50,000
Al 50,000
401 Al HIZ 201 Y| 100,000 0 100,000
< 50,000
Al 50,000
01 A& HI 100,000 0 100,000
OstE5ER ALE2 ZEHIA 99,108
= 50,000
Al 49,108
OetE5ER MYE2 ZEHIA 20U
99,108,000 * 0.90/100 892
=ns 4 XN 5,136,842 4,410,828 726,014
= 6,350
< 227,905
Al 4,902,587
s AIEE 2l 68,892 55,670 13,222
HEsusSAE N X 68,892 55,670 13,222
201 Let24E] 12,000 5,000 7,000
01 At 22l 12,000 5,000 7,000
OHA - SHASLE ESH(A0SAE )L
500,000& * 44! 2,000
OUlsSuNSAMES(SLE)E 2 AEEH
2,500,000 * 43| 10,000
202 Od4dl 3,592 2,200 1,392
01 = LH o4 1 3,592 2,200 1,392
ONEYE P2z
81,000& = 2H » 2& » 8% 2,592
OosusHs & 2+ 322 1,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
206 M= Hl 15,500 23,270 ANT,770
01 =4l 15,500 23,270 ANT,770
OHA BAISZE SZEH MY 15,500
oFRIHASZE 2AXNEX . M
500,000& = 104! 5,000
cRMASZE AR &M 50,0008 * 104 500
oAl #lE Y otE FH M= 10,000
401 AIEHI L 201 37,800 25,200 12,600
01 A& HI 37,800 25,200 12,600
Ok= 2% 31 ¥ uk
12,600,000 = 34l 37,800
s MBI 4,462,700 3,662,000 800,700
= 6,350
< 227,905
Al 4,228,445
HAU2SAE WEX S 940,000 800,000 140,000
< 200,000
Al 740,000
207 O] 20,000 50,000 A 30,000
01 289 20,000 50,000 230,000
OAILIH A THEXE HA2EY 20,000
307 21201 A 920,000 0 920,000
< 200,000
Al 720,000
09 2+=HAHEBXS 920,000 0 920,000
OALHA 2SAE MEXR 800,000
< 200,000
Al 600,000
OANUWUHA NEINE ASEQ =4EH 100,000
OAlLIH A Ssgel A8 20,000
Hled =484 30,000 12,000 18,000
< 6,000
Al 24,000
307 gl2tol & 30,000 0 30,000
< 6,000
Al 24,000
09 2HAHAEXS 30,000 0 30,000
OgHAd 484 30,000
< 6,000
Al 24,000
2x=8H FIIEEX= K= 3,400,000 2,650,000 750,000
307 glz2+ol & 3,400,000 2,650,000 750,000
09 2+HAHEEXS 3,400,000 2,650,000 750,000
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€ HWEns MEXE (&)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OUUHXIAHM 28 FFH 22X 3,400,000
oA (1090H) 2,260,000
o EHAI(317CH) 760,000
o st £(158M1) 380,000
sEswns SMANS 12,700 0 12,700
= 6,350
= 1,905
Al 4,445
307 glz2tol & 12,700 0 12,700
= 6,350
= 1,905
Al 4,445
02 RIZHE A E X 12,700 0 12,700
OLUXE SHINE2HALE AFAY 12,700
= 6,350
< 1,905
Al 4,445
SEHUNSSH(NSAR SEA)2Y 80,000 0 80,000
< 20,000
Al 60,000
307 glz2+ol & 40,000 0 40,000
05 RIZt2IE = 40,000 0 40,000
OSELHH(DEAT BYA)SL 2 40,000
405 XtatE SHI 40,000 0 40,000
< 20,000
Al 20,000
01 AR ESFH S 40,000 0 40,000
OSE4+(USAR SHANHSE 2 40,000
< 20,000
Al 20,000
HEE E2us S#FT 4 575,470 693, 158 A 117,688
ZXH T M 400,000 380,000 20,000
401 Al HIZ 201 I 400,000 380,000 20,000
01 A& HI 400,000 380,000 20,000
O Xt & A Z A 400,000
WESUTALE &5 - 2el 153,904 290,392 A 136,488
201 Let24E] 27,204 25,692 1,512
02 =224l 27,204 25,692 1,512
OunSANE HIR3 27,204
cuwsdSI| 63,000& = 240| = 12& 18,144
c3dEs 21,000& = 260| = 12& 6,552
od&s 11,000& = 197] » 12& 2,508




EA: EARE D
HH: snE 4 AL
el MRS TRDE BAXY (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
401 Al HI L 2 0HHI 126,700 264,700 A 138,000
01 A& HI 126,700 264,700 A 138,000
OnNsEotd I X| &t 32,500
o F=O| & X| & 250,000 = 5000 & 12,500
o M E X & 200,000& * 2500 & 5,000
o Xl Al & X| &+ 200,000& = 5000 & 10,000
oY X HEX|lE 200,000 = 25J0 & 5,000
QUEANSI| N (ZHA &)
50,000,000 * 1JH A 50,000
o&dgod Az ARl 10,000,000 * 14] 10,000
OnENSI SXNESE 1,000,000& * 2404 A 24,000
O &SI e LA S A
1,000,000& = 5JH 2 5,000
O3dEs RANES 100,000 = 2604 = 23] 5,200
TZ2NWE o™ & 21,566 22,766 A 1,200
201 Bt A H| 16,346 15,746 600
01 At 221 4,926 2,526 2,400
OsXNANE JIZEEX HZ 200 * 3,0000H 600
O=ANXNEE HE 200& = 2,00004 * 2= 800
ORHFI A2 63,000& * 2CH 126
OnNENHNES 10,000& * 100MI E 1,000
ORcexxg 22Tz 08 S22
600,000& * 42 D] 2,400
02 33249l 11,420 13,220 A 1,800
Oo=tdideeg2 50,000& * 204 = 23] 200
ORI B2A S22
35,0008 * 12& 420
O XH&kd| 450,000 * 204 = 12& 10,800
202 04 d| 5,220 4,620 600
01 2L Y| 5,220 4,620 600
OuUusSXNE gFFA 1,620
OSYAMEHZE R4 U AIA S
60,000& » 19 = 53 = 12& 3,600
DIAFA INHEES 29,780 0 29,780
NsEX QY2 A 29,780 0 29,780
201 Bt A H| 23,960 0 23,960
01 At 2+2/H 4,560 0 4,560
OXS X2 A Ol AY 200& = 208 * 5008 2,000
OXNSA Mg 3582 222 ME 1,560
osHE Y 60,000& = 8 * 23] 960
o= HOUE 40 * 15,0000H 600




2N SARS
M sus 4 N

Sl pIAEA HUSE CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMEXe Ha XS M
500& = 2,0000H 1,000
02 =224l 19,400 0 19,400
OXtsit&d Mg DA RERS
1,200,000& * 128 14,400
OUSEIIAIAE T2 FX 22
100,000& * 128 1,200
OREEXNSI =AHR 28 FX 2l
300,000 = 12& 3,600
ONSHES ALY MARS BHE
100,000& * 29 200
202 oddl 4,320 0 4,320
01 = LH o4 4l 4,320 0 4,320
ORBENSTH +AYL 428 L HENSSY
S+ 60,000& = 2H * 2& * 8% 1,920
OMEXe Ha JXNI2FA
60,000 = 2% * 22 = 103 2,400
405 XHoHF S HI 1,500 0 1,500
01 AL EZFH S 1,500 0 1,500
OSAZE +A 228 LES 7Y
1,500,000& = 1CH 1,500
HE2LAZH (A RSD) 93,871 67,500 26,371
ol 2d | 55,503 32,472 23,031
el 2AH(ZA LS 55,503 32,472 23,031
101 @124l 55,503 32,472 23,031
03 I AHA2ZZ2HE > 55,503 32,472 23,031
OZ&acl 224 E= 35,574
=llas 38,8803 * 1 = 3652 14,192
SR IGES) 14,192,000 = 4/12 4,731
cUXRSFI=E 38,8803 « 18 » 20 778
oA 2RFE
7,290% = 18 » 75AI2t » 123 6,561
cpYyIRLY
58,320 * 1H * 8L » 123 5,599
S P Eaa= 14,192,0002 * 10/100 1,420
o HE S IHHI 400,000& = 1¥ = 23] 800
SPSEY Fal]l 34,081,000& * 3.5/100 1,193
oIl =l 150,000& = 1¥ = 23] 300
OXNSXUHSEEFAE2E 224 B 19,929
cJIE= 38,8803 * 1 = 2502 9,720
o3 9,720,000& = 4/12 3,240
cHIRSFII=E 38,8803 * 18 » 20 778




S AWED
HHLSLAZH (TARNS L)
ol 2yl SR
_ - o
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
SN EECEY:
7,290& * 1¥H = 20A12F ~ 12&8 1,750
oFsYH 38,880& * 1Y x 52 2,022
o JiatZ2 9,720,000 = 10/100 972
o HAE S IHH| 400,000€ * 1€ * 23| 800
o X R2I&HI| 18,482,000 * 3.5/100 647
JlE&dl 38,368 35,028 3,340
JIE2AH (SAIRED) 38,368 35,028 3,340
201 et 9| 32,088 29,148 2,940
01 AP 2t 2| H| 29,688 26,748 2,940
OEM&Y I3l 250,000& = 12& 3,000
OMEBZE JRUA(BAXS) 200,000& = 12& 2,400
Q!B AIRD|D] A2E 2¢ 7,200
o S Al CI X2 300,000 ACH 23] 2,400
o & Al H & 300,000& 2CH 23] 1,200
o T AN 300,000 ACH 23] 2,400
ocnsdHA 300,000& 1CH 23] 600
ocnEAXx 300,000& * 1CH * 23] 600
OdeL) dx= 50,000& * 304 = 12& 1,800
O=3&H| 7,000 * 269 * 72 x 128 15,288
02 Z2=2=2494| 2,400 2,400 0
oRERZ 200,000& = 12& 2,400
202 044l 2,080 1,680 400
01 2L Hl 2,080 1,680 400
OHl&4Z22 2Lyl 2,080
203 R F & 4,200 4,200 0
04 EASHEIRFAH| 4,200 4,200 0
OBAN2g9Id2=&| 350,000& = 12& 4. 200
MEES(STADRED) 232,500 382,500 A 150,000
WEAHA XK= 232,500 382,500 A 150,000
LHEAHH K= 232,500 382,500 A 150,000
701 JIEIS HE =2 232,500 382,500 A 150,000
01 JIEIS HE =2 232,500 382,500 A 150,000
OUXNEAEEIH M2 150,000
OFXEELEIH HME2
825,000,000 * 10/100 82,500




